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Interaction Diagram

2143. Define Interaction Diagrams
« (1) Set up(pg 19)
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= O%) (VM 3 = @%) (VM 4 = 27)
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02 Test Stub

Al -“ AlsH O A
= x 2 o E = E £ DVM — O 3 Jgmachine/STUBjava - Eclipse IDE
pject Run Window Help
i 1 2 3 .
g " 5 s P #EHE ISRy ey v
2. MZAN AE QA —rre— ploprrireeens ‘
| 7 8 a O | il Controllerjava J] Verification... | Purcha J] DVM.java d ltem.java i
e ol o ol=d 0 43
2) le- 2' _I _Il__xl- == n 44 result.put(2. messaee):
& Console &
SystemTestStub [Java Application] C#WProgram Filest)avatjdk1.8.0_281#binWjavaw.exe (2021. 5. 1!
* Ttem 11 : (VM @ = @7%) (VM 1 = 17%) (VM 2 = 37%) (VM 3 = @%) (VM 4 = &%
* Ttem 12 @ (VM @ = @7%) (VM 1 = 078) (VM 2 = 078) (VM 3 = 17%) (VM 4 = 0%
* Ttem 13 : (VM @ = @7) (VM 1 = 07) (VM 2 = @%) (VM 3 = @%) (VM 4 = 17
* Ttem 14 : (VM @ = 5%) (VM 1 = @%) (VM 2 = @%) (VM 3 = @%) (VM 4 = &%
* Ttem 15 : (VM @ = 47%) (VM 1 = 97) (VM 2 = @%) (VM 3 = 8%) (VM 4 = 9%
* Ttem 16 : (VM @ = @7) (VM 1 = @7%) (VM 2 = 77) (VM 3 = @7%) (VM 4 = 8%
* Ttem 17 : (VM @ = @%) (VM 1 = @7) (VM 2 = 8%) (VM 3 = @%) (VM 4 = 77
* Ttem 18 : (VM @ = 9%) (VM 1 = 178) (VM 2 = @7) (VM 3 = B%) (VM 4 = e%
* Ttem 19 : (VM @ = 87%) (VM 1 = @%) (VM 2 = 17%) (VM 3 = 7%) (VM 4 = 0%
* Ttem 20 : (W'I @ =07%) (VM1 =237) (VM2=20%) (VM3 =06%) (VM4 = 3%
R —. UI2 -»> UIl [E%

. & TestStub _ [H2sz] Message X
. ?J & Testotub = - * Ttem 1 : (VM @ = @7%) (VM 1 = 07§) (VM 2 ? )
TE temwmz[ || wm * Ttem 2 @ (VM @ = 4%) (VM 1 = 8%) (WM 2 AT O1E TS )
> - g * Ttem 3 : (VM @ = @7) (VM 1 = 07) (VM 2 ® ISR ASHUC )
> O Bewg 123450 || A28 3C o * Ttem 4 : (VM @ = @7) (VM 1 = 074) (VM 2 )
s @ e . — * Ttem 5 : (VM @ = 87) (VM 1 = @75) (VM 2, )
sel m sz vl [ maza | * Ttem 6 : (VM @ = 6%) (VM 1 =07%) (VM2 =2%) (VM3 =70 (W4=0%)
.o * Ttem 7 : (VM @ = @) (VM 1 = 57) (VM 2 = ©7%) (VM 3 = @7) (VM 4 = 07)
e * Ttem 8 : (VM @ = @7) (VM 1 = @7) (VM 2 = 774) (VM 3 = 47%) (VM 4 = 07)
5 * Ttem 9 : (VM @ = 071) (VM 1 = @74) (VM 2 = @) (VM 3 = 77t) (VM 4 = 07)
’ * Ttem 10 : (VM @ = 27) (VM 1 = 4%) (VM 2 = 9%) (VM 3 = @%) (VM 4 = 5%
- o * Ttem 11 : (VM @ = 07F) (VM 1 = 17%) (VM 2 = 3%) (VM 3 = 07) (VM 4 = 0%
;o * Ttem 12 : (VM @ = @7%) (VM 1 = @7) (VM 2 = @%) (VM 3 = 1%) (VM 4 = 0%
> B * Ttem 13 : (VM @ = 07) (VM 1 = @7) (VM 2 = @7) (VM 3 = @7) (VM 4 = 1%
s T Sraew * Ttem 14 : (VM @ = 5%) (VM 1 = @7%) (VM 2 = @7) (VM 3 = @%) (VM 4 = &%



DVM — O % jgmachine/STUB java - Eclipse IDE
pject Run Window Help
1 2 3
. 5 ] 5 | [E E-E-v(‘.v():u@v:bvlm
123450 =
8 9 Y 8 J] Verification... i1 Purchasejava J] DVM java ] Item,java o
result.put(2. messaee):
B Console 2
SystemTestStub [Java Application] C:WProgram Filesiavajdk1.8.0_281WbinWjavaw.exe (2021. 5. 1!
* Ttem 14 : (VM @ = 5%) (VM 1 = @7§) (VM 2 = @%) (VM 3 = @%) (VM 4 = 0%
* Ttem 15 @ (VM @ = A7) (VM 1 = 971) (VM 2 = @%) (VM 3 = @7) (VM 4 = 9%
* Ttem 16 : (VM @ = @%) (VM 1 = @%) (VM 2 = 77k) (VM 3 = @%) (VM 4 = 0%
* Ttem 17 @ (VM @ = @%) (VM 1 = 07§) (VM 2 = 8%) (VM 3 = @%) (VM 4 = 7%
* Ttem 18 : (VM 8 = 97k) (VM 1 = 17§) (VM 2 = @7k) (VM 3 = @7) (VM 4 = 0%
* Ttem 19 : (VM @ = 8%) (VM 1 = @%) (VM 2 = 17) (VM 3 = 77) (VM 4 = 0%
* Ttem 20 : (VM @ =@k) (VM1 =3%) (VM2 =0%) (WM3=67%) (VM4=3%
UI2 -> UIl [
[Ho==]
* Ttem 1 : (VM @ = 07) (VM 1 = 07) (VM 2 = @%) (VM 3 = 37%) (VM 4 = 3%)
s 0 examlib * Ttem 2 @ (VM @ = 478) (VM 1 = 87) (VM 2 =@m) (uM 3 — Az (VM A - A7)
* : = 07) (VM 1 = 0%) (VM 2| Message )
s @ (&) Testst B - ¢ Item 3 : (VM @ = @ g
S &l Tests * Ttem 4 : (VM @ = 07) (VM 1 = 0%) (VM 2 )
[ =4 * . — -
lem H15 = 2 Ttem 5 : (W@ = 07) (VM1 =em) (VM2 === oL )
)& * Ttem 6 : (VM @ = 674) (VM 1 = 0%) (\m2® )
> O BEwg 123450 || M2m 3C o * Ttem 7 : (VM @ = 074) (VM 1 = 5%) (VM 2 )
> O - * Ttem 8 @ (VM @ = @7%) (VM 1 = 07) (VM 2 )
Item B *EF 1l 22|
T [ D * Ttem 9 : (VM @ = @%) (VM 1 = 0%) (VM 2 = @%) (VM 3 = 778) (VM 4 = @%)
.o * Ttem 16 : (VM @ = 27) (VM 1 = 47) (VM 2 = 9%F) (VM 3 = @%) (VM 4 = 5%
& * Ttem 11 : (VM 8 = @7k) (VM 1 = 17§) (VM 2 = 37) (VM 3 = @7) (VM 4 = 0%
e * Ttem 12 : (VM @ = @%) (VM 1 = @74) (VM 2 = @%) (VM 3 = 1%) (VM 4 = @%
’ * Ttem 13 : (VM @ = @) (VM 1 = @74) (VM 2 = 87) (VM 3 = @%) (VM 4 = 1%
;o * Ttem 14 : (VM 8 = 57k) (VM 1 = @7k) (VM 2 = @7k) (VM 3 = @7) (VM 4 = 0%
> @ * Ttem 15 : (VM @ = 47k) (VM 1 = 97§) (VM 2 = @%) (VM 3 = @%) (VM 4 = 9%
s B * Ttem 16 : (VM @ = @%) (VM 1 = 07§) (VM 2 = 77%k) (VM 3 = @%) (VM 4 = 6%
g | — * Ttem 17 : (VM 8 = @7k) (VM 1 = @7§) (VM 2 = 87) (VM 3 = @7) (VM 4 = 7%



&|D - O % Jgmachine/STUB java - Eclipse IDE
Al x I Al -6-“ A pject Run Window Help
E1 EOEH PAspRETH~F 0oy~
F =8 erjava 1) Verification.. M) Purchasejava 1] DVMj 1) ltemjava
MZA I 3C ol 43
2' - EI1 =— g7 a4 result.put(2. messace):
O&5o [
4) 1T'9' '—I- i_ & Console 2

SystemTestStub [Java Application] C:#WProgram Files#lavaWjdk1.8.0_281#WbinWjavaw.exe (2021. 5. 1
* Ttem 17 : (VM © = 0%) (VM 1 = 0%) (VM 2 = 8%) (VM 3 = @) (VM 4 = 7%
* Ttem 18 - (VM @ = 97) (VM 1 = 1%) (VM 2 = %) (VM 3 = 07) (WM 4 = @
* Ttem 19 : (VM @ = 87) (VM 1 = @7) (VM 2 = 171) (VM 3 = 77t) (VM 4 = o7
* Ttem 20 : (VM @ = 07%) (VM 1 = 3%) (VM 2 = @%) (VM 3 = 67) (VM 4 = 37

uIz2 -»> UIl [==2

[ zg]

* Ttem 1 : (VM @ = 07) (VM 1 = 0%) (VM 2 = @7) (VM 3 = 37%) (VM 4 = 37%)
X Ttem 2 : (VM @ = 47) (VM 1 = 8%) (VM 2 = @7) (VM 3 = %) (VM 4 = &%)
* Ttem 3 : (VM @ = 07%) (VM 1 = @%) (VM 2 = @%) (VM 3 = 07) (VM 4 = @%)
X Ttem 4 : (VM @ = 07) (VM 1 = @%) (VM 2 = @%) (VM 3 = @%) (VM 4 = 0%)
s @ examlib *Ttem 5 : (VM @ = @7%) (VM 1 = @7%) (VM 2 =0n) (UM 3 - and VM A = I3)
=, B * Ttem 6 : (VM @ = 67%) (VM 1 = @7%) (VM 2 Message > H)
' ?_J ) TestStub . ~ * Ttem 7 : (VM @ = @%) (VM 1 = 5%) (VM 2 ’ i)
o temus sz 200 ¥ Item 8 : (VM@ = @) (VM1 =0%) (W2 (X) saisauc "
; * Ttem 9 : (VM @ = 07%) (VM 1 = @%) (VM 2 b
> 0| BEWF 123456 || MEW B 2 * Ttem 10 : (VM @ = 27%) (VM 1 = 4%) (VM 7
> & —— - * Ttem 11 : (VM @ = 07%) (VM 1 = 1%) (VM 7
s 8l emaz | |ser || move | * Ttem 12 : (VM @ = 07%) (VM 1 = @) (VM 2 = @) (VM 3 = 1) (VM 4 = 0%
. & * Ttem 13 : (VM @ = @%) (VM 1 = @%) (VM 2 = %) (VM 3 = %) (VM 4 = 17
= * Ttem 14 : (VM @ = 57) (VM 1 = @7) (VM 2 = @7) (VM 3 = 87) (VM 4 = @7
- * Ttem 15 : (VM @ = 474) (VM 1 = 9%) (VM 2 = 8%) (VM 3 = 87%) (VM 4 = 97
: * Ttem 16 : (VM @ = @7) (VM 1 = @%) (VM 2 = 7%) (VM 3 = 8%) (VM 4 = @7
> @ * Ttem 17 : (VM @ = @) (VM 1 = @) (VM 2 = 8%) (VM 3 = 8%) (VM 4 = 77
> @ * Ttem 18 : (VM @ = 9%) (VM 1 = 1%) (VM 2 = @%) (VM 3 = @7) (VM 4 = o7
= * Ttem 19 : (VM © = 874) (VM 1 = 07) (VM 2 = 171) (VM 3 = 77t) (VM 4 = 07}
| — * Ttem 20 : (VM @ = 07%) (VM 1 = 3%) (VM 2 = @%) (VM 3 = 67) (VM 4 = 37
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1] Purchase java | DVM java

Controller dvm = Controller.getInstance();

B Console 2
SystemTestStub [Java Application] C:#Program Filesiavaitjdk1.8.0_281%binW#javaw.exe (2021. 5. 19. 2% 10:19:1¢

* Ttem 9 : (VM @ = @7) (VM 1 = @7%) (VM 2 = @7}) (VM 3 = 77) (VM 4 = @7) =53 2=

3. XH i 'TIIZI-EI * Ttem 10 : (VM © = 27) (VM 1 = 438) (VM 2 = 97) (VM 3 = @) (VM 4 = 5%) =20l
* Ttem 11 : (VM @ = %) (VM 1 = 17) (VM 2 = 37%) (VM 3 = &%) (VM 4 — 8%) ofojA=
* Ttem 12 : (VM © = ©%) (VM 1 = 07%) (VM 2 = @%) (VM 3 = 17%) (VM 4 = 0%) ao=
1) @*ol' I-I F'_l * Ttem 13 : (VM © = 0%) (VM 1 = @) (VM 2 = @%) (VM 3 = 0%) (VM 4 = 1%) =im
* Ttem 14 : (VM © = 5%) (VM 1 = @%) (VM 2 = @) (VM 3 = @%) (VM 4 = 8%) T.0.P
* Ttem 15 : (VM © = 4%) (VM 1 = 97%) (VM 2 = @) (VM 3 = 8%) (VM 4 = O%) HIE5e0
* Ttem 16 = (VM © = @7) (VM 1 = 07) (VM 2 = 77%) (VM 3 = &%) (VM 4 = 0%) cimier
* Ttem 17 : (VM @ = %) (VM 1 = @7) (VM 2 = 8%) (VM 3 = %) (VM 4 = 7%) 2o =
* Ttem 18 : (VM © = 97%) (VM 1 = 17%) (VM 2 = @%) (VM 3 = 0%) (VM 4 = 0%) oruma
e — * Ttem 19 = (VM © = 87) (VM 1 = 07) (VM 2 = 1) (VM 3 = 77) (VM 4 = o) ZICO
s 8| Bressb — O X UI: I‘:eZlIiﬂ S (VM@ = @) (VML= 3%) (VM 2= 0%) (VM3 = 6k) (VM4 = %) ==
5 @*J
I — o > v
0| 3us ¥ Ttem 1 : (VM © = @) (VM 1= %) (VM2 =08%) (VM3 =3%) (VM4 =31 ==
> @ * Ttem 2 : (VM @ — 87) (VM 1 = 8%) (VM 2 = 07F) (VM 3 — 0%) (VM 4 — @%) AolT
y rem a2 fro | 255l || Moz | * Ttem 3 : (VM @ = @%) (VM 1 = @%) (VM 2 = 07%) (VM 3 = @7%) (VM 4 = o) ==
o * Ttem 4 : (VM @ = 0%) (VM 1 = @%) (VM 2 = 0%) (VM 3 = @%) (VM 4 = @) =zz0e
. * Ttem 5 : (VM @ = @) (VM 1 = %) (VM 2 = %) (VM 3 = 87) (VM 4 = 274) BA
= * Ttem 6 : (VM @ = 67) (VM 1 = @%) (V2 =2%) (VM2 =7%) (VM4=0%) seos
’ * Ttem 7 : (VM @ = @7) (VM 1 = 5%) (VM 2 = %) (VM 3 = @7) (VM 4 = @7) T2 o=
> * Ttem 8 : (VM @ = @%) (VM 1 = @%) (VM 2 = 778) (VM 3 = 4%) (VM 4 = @%) 232
> @ * Ttem 9 : (VM @ = 07%) (VM 1 = @%) (VM2 = 0%) (VM 3 = 77%) (VM 4 = 07) =72 2;y=
B * Ttem 10 : (VM © = 278) (VM 1 = 47%) (VM 2 = 9%) (VM 3 = @%) (VM 4 = 5%) A==
S — * Ttem 11 : (VM © = @%) (VM 1 = 17) (VM 2 = 37%) (VM 3 = @%) (VM 4 = %) atoja~
s B o2 * Ttem 12 : (VM © = ©%) (VM 1 = 07%) (VM 2 = 0%) (VM 3 = 17%) (VM 4 = 0%) ao=
S Urres * Ttem 13 : (VM @ — 0%) (VM 1 = 074) (VM 2 — @%) (VM 3 = @%) (VM 4 — 17) 22
v * Ttem 14 : (VM @ = 5%) (VM 1 = @) (VM 2 = @) (VM 3 = @%) (VM 4 = %) T.0.P
- arlous 11 ¥ Ttem 15 : (VM @ = 47%%) (VM 1 = 9%) (VM 2 = @%) (VM 3 = @%) (VM 4 = 9%) HE500
> B4 > w [w main] * Ttem 16 = (VM © = @%) (VM 1 = 07) (VM 2 = 77) (VM 3 = &%) (VM 4 = %) omer
* Ttem 17 : (VM @ = 0%) (VM 1 = @7) (VM 2 = &%) (VM 3 = @%) (VM 4 = 7%) =0/ =
* Ttem 18 : (VM © = 9%) (VM 1 = 17%) (VM 2 = @%) (VM 3 = 0%) (VM 4 = 8%) ormsa
* Ttem 19 : (VM @ = 127) (VM 1 = @7F) (VM 2 = 17) (VM 3 = 7%) (VM 4 = @7%) ZICO
* Ttem 20 : (VM © = 0%) (VM 1 = 37) (VM 2 = @) (VM 3 = 6%) (VM 4 = 3%) ==

i@ Task Reposnones b F~=0

uz4 -» UI1l
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DV _ O stemnTestStub.java - Eclipse IDE
pject Run Window Hel
ga: 20t I~ N a
yilv w2
rollerjava 1] Verification... i1 Purchase.java I DVM.java I ltem.java
Controller dvm = Controller.getInstance();
S —( 1 o
onsole ¥
SystemTestStub [Java Application] C:#Program Filestavatdk1.8.0_281#binjavaw.exe (2021. 5. 1
* Ttem 10 : (VM @ = 278) (VM 1 = 4%) (VM 2 = 87) (VM 3 = @%) (VM 4 = 5%
* Ttem 11 : (VM 8 = @) (VM 1 = 178) (VM 2 = 37%) (VM 3 = 07%) (VM 4 = 0%
* Ttem 12 : (VM @ = @71) (VM 1 = @7) (VM 2 = @7%) (VM 3 = 17) (VM 4 = @7
. * Ttem 13 : (VM @ = @) (VM 1 = @7%) (VM 2 = @%) (VM 3 = 07%) (VM 4 = 1%
Fa * Ttem 14 : (VM @ = 57) (VM 1 = @7) (VM 2 = @7%) (VM 3 = &%) (VM 4 = @7
* Ttem 15 : (VM @ = 47%) (VM 1 = 97%%) (VM 2 = @%) (VM 3 = @7%) (VM 4 = 9%
* Ttem 16 : (VM @ = @71) (VM 1 = @7) (VM 2 = 77) (VM 3 = @%) (VM 4 = @7
* Ttem 17 = (VM @ = @7F) (VM 1 = @7) (VM 2 = 87%) (WM 3 = @7%) (WM 4 = 77
* Ttem 18 : (VM @ = 971) (VM 1 = 17) (VM 2 = @7%) (VM 3 = &%) (VM 4 = @7
* Ttem 19 @ (VM @ = 87) (VM 1 = @7) (VM 2 = 17) (WM 3 = 77%) (VM 4 = @7
> 3 pxamlib * Ttem 20 : (VM 0 = @7%) (VM 1 = 37) (VM 2 = 082) (VM 3 — A%) (UM A — 37
@ [@Tessub — O X ure -> U1l Message X
@y ] TestS UI1 -»> ui4
=4 s
ftem % = [mz2z] TERY SEN BT 2 VAL
> W * Ttem 1 : (VM © = @7%) (VM 1 = @7) (VM 2 ® )y
;O EME Qm * Ttem 2 : (VM © = 87%) (VM 1 = 87) (VM 3 )
s * Ttem 3 : (VM @ = @7%) (VM 1 = @7) (VM 2 )y
item ¥ |1 | 1 28F2 |
s B e el _ * Ttem 4 : (VM @ = @7%) (VM 1 = @%) (VM 2 = @7) (VM 3 = @7%4) (VM 4 = 87)
. @ * Ttem 5 : (VM @ = @7) (VM 1 = 07) (VM 2 = @7) (VM 3 = 07) (VM 4 = 27)
& * Ttem 6 : (VM @ = 67) (VM 1 = @%) (VM 2 = 27) (VM 3 = 7%) (VM 4 = 87%)
- * Ttem 7 : (VM @ = @7) (VM 1 = 57) (VM 2 = @7) (VM 3 = 07) (VM 4 = 07)
’ * Ttem 8 : (VM @ = @7%) (VM 1 = @%) (VM 2 = 7%) (VM 3 = 4%) (VM 4 = 87%)
> * Ttem 9 : (VM @ = @74) (VM 1 = 07) (VM 2 = @7) (VM 3 = 77) (VM 4 = 07)
> O * Ttem 1@ : (VM @ = 27) (VM 1 = 4%) (VM 2 = 9%) (VM 3 = 07%) (VM 4 = 5%
= * Ttem 11 : (VM @ = @71) (VM 1 = 17) (VM 2 = 37) (VM 3 = @%) (VM 4 = @7
s 1 SpER * Ttem 12 : (VM @ = @7%) (VM 1 = @7%) (VM 2 = @%) (VM 3 = 17%) (VM 4 = 0%
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ystemTestStub.java - Eclipse IDE
pject Run Window Help
~ oGO v o |2

P wRE TIH~E

= | Verification.. M Purchasejava 7 DVMjava M temjava

Controller dvm = Controller.getInstance();

s & examlib

> B [&] TestStub - 0 s
- )

B

co| temwm[ ]
5 acnal [ oamace
e —

o) weme=f]swbul| maza |
s &

> &

> @

> &

> &

=

> O stack

B Console %

SystemTestStub [Java Application] C:WProgram FilesWlavaijdk1.8.0_281#binWjavaw.exe (2021. 5.
* Ttem 13 : (VM @ = @7F) (VM 1 = @7) (VM 2 = @7) (VM 3 = @7) (VM 4 = 17
* Ttem 14 @ (VM @ = 5%) (VM 1 = @%) (VM 2 = @%) (VM 3 = @%) (VM 4 = @7
* Ttem 15 : (VM @ = 4%) (VM 1 = 97) (VM 2 = @%) (VM 3 = @%) (VWM 4 = 97
* Ttem 16 : (VM @ = @%) (VM 1 = @%) (VM 2 = 7%) (VM 3 = @%) (VM 4 = @7
* Ttem 17 : (VM @ = @%) (VM 1 = @%) (VM 2 = 87%) (VM 3 = @%) (VM 4 = 77
* Item 18 : (VM @ = 97%) (VM 1 = 17%) (VM 2 = @3%) (VM 3 = @%) (VM 4 = @7
* Ttem 19 : (VM @ = 8%) (VM 1 = @%) (VM 2 = 1%) (VM 3 = 7%) (VM 4 = @7
* Ttem 2@ : (VM @ = 07F) (VM 1 = 37) (VM 2 = @7) (VM 3 = 67§) (VM 4 = 37

U4 -» UI1

UI1l -»> UI4

[0 =z]
* Ttem 1 : (VM @ = 07%) (VM 1 = 0%) (VM 2| Message X
* Item 2 : (VM @ = 87%) (VM 1 = 8%) (VM 2
* Item 3 : (WO =0%) (VI1=0%) (W2 (X) szageu
* Ttem 4 @ (VM @ = 07F) (VM 1 = 07F) (VM 2
¥ Ttem 5 @ (VM @ = 07%) (VM 1 = 0%) (VM 2 ztol
* Ttem 6 : (VM @ = 67F) (VM 1 = @7%) (VM 2 |
* Ttem 7 @ (VM @ = 078) (VM 1 = 57) (VM 2 = 078) (VM 3 = 078) (VM 4 = @7
* Ttem 8 @ (VM @ = 07k) (VM 1 = 07) (VM 2 = 77) (VM 3 = 4%) (VM 4 = o7
* Item 9 @ (VM @ = @%) (VM1 = @%) (VM 2 = 0%) (VWM 3 = 77) (VM 4 = 0%,
* Ttem 18 : (VM @ = 2%) (VM 1 = 4%) (VM 2 = 9%) (VM 3 = @%) (VM 4 = 57
* Ttem 11 : (VM @ = @7%) (VM 1 = 17k) (VM 2 = 3%) (VM 3 = @%) (VM 4 = &7
* Ttem 12 : (VM @ = @) (VM 1 = @) (VM 2 = @%) (VM 3 = 17%) (VWM 4 = @7
* Ttem 13 : (VM @ = @%) (VM 1 = @%) (VM 2 = @%) (VM 3 = @%) (VM 4 = 17
* Ttem 14 : (VM @ = 57%) (VM 1 = @7) (VM 2 = @7) (VM 3 = @7) (VM 4 = &7
* Ttem 15 @ (VM @ = 4%) (VM 1 = 9%k) (VM 2 = @%) (VM 3 = @%) (VM 4 = 97
¥ THam A& - UM A _ AT AWM A ATeh AWM TTeh UM D AaTeh VM A ;e
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03 Category-Partition Testing

# more than seven. [if uid]
# Test specification for DVM
#

Environments:

Parameters:
Current Ul:
initial page.
[property uill Page move button:
flemiesloes [property ui2] initial page-purchase button.
input verification code. [property ui3] e .
modify stock. [property ui4] ['f UI1]
payment. [property ui5] initial page-prepurcahse button.
!nform prepl.jrchase. [property u!6] [if ui1]
inform location. [property ui7] .
inform verification code. [property uig] initial page'moc‘( management button.
[if ui1]
Mode: = —
ode - select item button. [if ui2]
purchase. [property mode1] [if uis] o . . . i
prepurchase. [property modeZ] [if ui5) cancel button. [if ui2 ” ui3d “ ui4 “ uis “ ui6]
confirm button. [if ui3 || ui4 || ui7 || uig]
is Advance: c e
i, (i uis] 1% payment fail. [if ui5]
true. [if uis) 100% payment fail. [if ui5]
location button. [if ui6]
selected item stock:
local stock zero and remote stock zero.
(if ui2] Manage Stock:
local stock zerFfan.g]valid remote stock. select item zero. [if ui4]
1T i . . .
valid local stock. (if i2] select item less than zero.  [if uid]

select item more than zero. [if ui4]
expected changed local stock:
less than zero. [if uia] L
more than zero. [if uid] Verification Code:
valid verification code. [if ui3]
e G Rl T m G invalud verification code.  [if ui3]

less than seven. [if ui4]
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Test Case M A

Environment constraint &-&-> 3537}

-

Environment constraint & &K £ H & -
> 877}

Property constraint A& -> 447|

and written to dvm.tsl




03 Category-Partition Testing

Constraint 8 &

1.1 Categorize & Property & Constraints

¥ Constraint
fa Group = Category = Valus N . L o & Constraint
N [Property prop] y Group = Category = Value o
[Property prop]
Environments Current Ul initial page. [property will T T
Environments Current LI item select. [property ui2] Environments E:l:pai:l.ed changed maore than seven [if wid]
local item type
Environments Current UI input werification code [propearty wi3]
initial -purchasa
Environments Current Ul modify stock [property wid] Parameters Page move button bu page-pu [if wi1]
tton.
Enwvironments Current Ul payment [property wis]
Environments Current Ul inform prepurchase [property wig] Parameters Page move button ::tl?l page-prepurcahss [if wi1]
on.
Environments Current UI inform location [property ui7l
initial -stock
Environments Current Ul inform verification code [proparty wig] Parameters Page move button page [if wi1]
management buttan
B} [property mode]
Emironments = Mode purchase (if wis] Parameters Page mowe button s=lect item button [if wi2]
mad fui2 || uild id
Environments Mode prepurchase [_pm_perly =21 Parameters Page move button cancel button F_ m ” w3 || ia ||
— [if wis] - ui5 || wig]
Environments is Advance false [if wis] if wiz || wid || ui7
R . o Parameters Page move button confirm button f_ ” ” “
Environments  is Advance true [if wis] wid]
Environments  selected item stock local stock zero and (if ui2] Parameters Page move button location buttan [if wis]
remote stock zero
) Parameters Page move button 1% payment fail [if wis]
. |ected ite tock local stock zero and valid [if wiz]
Environments P 5
selected iem = remote stock Parameters Page move button 100% payment fail [if wis)
Environments selectad item stock wvalid local stock [if wi2] Farameters Manage Stock select item zero [if wid]
Environments axpected changed |ess than 2ero [if id] Parameters Manage Stock select item lass than zero  [if uid]
local stock
select item more than ;
) expected changed o Parameters Manage Stock [if wia]
Environments more than zero [if wid] zera
local stock
. axpected changed - Parameters Verification Code valid verification code [if wi3]
Environments . less than seven [if wid]
local itern type Parameters Verification Code invalud verification cede  [if ui3]

Constraint(single, property) & M -£5} 0 test case 4470 = 242
.
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CPT Result
17 Pass 36 ' Pass

Aa TestCase = Result = Description 18 Pass 37 - Pass
1 Pass = . 38 - Pass
2 Pass 2 ]

| 21 Pass
3 _ Pass 2 i 39 Pass
4 . Pass 23 ) 40 Pass
g5 _ Pass 24 Pass a4 Pass
(5] Pass 25 Pass 42 Pass
74 Pass 8 Pass 4 Pass
8 Pass 2z Pass ad Pass
9 Pass 2 Pass = Pass
10 Pais 29 Pass
n Pass 30 Pass
12 Pass kil Pass
13 Dans 32 Pass
14 Pads a3 Pass
15 Pass 34 Pass
16 Pase 35 Pass

TestCase 19, 20, 22, 232 logical contradictory o H| A E AH[O|AZEA K| 2|2 w 40/40 = 100%
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